-+ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
1,339 x 10 = 9,225 x 1000000 =
7,873 x 10 = 3,155 x 1000 =
2,393 x 10000 = 9,419 x 10 =
5,365 x 100000 = 2,053 x 100000 =
5,275 x 10000 = 10, 563 x 10000 =
10,238 x 100 = 7,552 x 10 =
1,512 x 100 = 3,497 x 1000 =
10, 177 x 100000 = 5,843 x 10000 =
5,002 x 10 = 1,381 x 10000 =
10, 682 x 1000000 = 7,442 x 10 =
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Tkl

Multiplicera decimaler med tiomakter

namn:

1,339 x 10 =13.39

7,873 x 10 ="78.73

2,393 x 10000 = 23930

5,365 x 100000 = 536500

5,275 x 10000 = 52750

10,238 x 100 = 1023.8

1,512 x 100 = 151.2

10, 177 x 100000 = 1017700

5,002 x 10 = 50.02

10, 682 x 1000000 = 10682000

Datum: Poéng:

9,225 x 1000000 = 9225000

3, 155 x 1000 = 3155

9,419 x 10 = 94.19

2,053 x 100000 = 205300

10, 563 x 10000 = 105630

7,552 x 10 =75.52

3,497 x 1000 = 3497

5, 843 x 10000 = 58430

1,381 x 10000 = 13810

7,442 x 10 =74.42
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